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QUESTION 1

Refer to the Exhibit.
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An integration developer implements a mediation flow with an interface containing the business object shown in the
Exhibit. When the mediation flow is invoked by external applications, problems are occurring due to an application
sending a non-numeric value for the customerID. How should the integration developer BEST proceed in order to
improve the flow so that this problem is caught as early as possible?

A. Use a Set Message Type primitive to correct the business object.

B. Use a Data Handler primitive to handle the mismatch in data types.

C. Use a Message Filter primitive to filter out the invalid business object.

D. Use a Message Validator primitive to ensure the business object instance matches its schema.

Correct Answer: D
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QUESTION 2

Refer to the Exhibit.
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A business object has been defined. A restriction has been placed on the values allowed in the value parameter. If the
value contained in this element falls outside of the defined range, an error must be logged and the flow must stop. How
should the integration developer BEST implement this requirement into a mediation flow?

A. Use a Custom Mediation primitive to extract and check the value.

B. Use a Message Validator primitive to ensure the value lies in the range defined.

C. Use a Service Level Agreement (SLA) primitive to ensure that the value falls within the range.

D. Use a Policy Resolution primitive to ensure that the value meets the policy of being in the range.

Correct Answer: B

QUESTION 3
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A developer is implementing a mediation flow and none of the built-in primitives provide the needed functionality. They
decide to implement the mediation logic using the Custom primitive.

At runtime, if an exception occurs in the custom code, what will happen?
A. An exception is thrown and the fail terminal is fired.

B. An exception is thrown and the message is consumed silently.

C. An exception is thrown and the out terminal is fired.

D. No exception is thrown and the fail terminal is fired.

Correct Answer: A

QUESTION 4

An integration developer is designing a business object map and must set an orderType element in the target based on
the value of an orderNumber element in the source. Each orderNumber element value has a two-letter prefix that
indicates the type of order (ex: SU-000123). Which transform type would be most appropriate for this situation?

A. Move

B. Assign

C. Extract

D. Substring

Correct Answer: C

QUESTION 5

An integration developer has created a mediation module and is testing it using integration test client (ITC) with default
test configuration. Which of the following statements depicts the behaviour of monitors?

A. The integration developer must add monitors before executing a test using ITC
B. The integration developer must enable Common Event Infrastructure (CEI) for monitors.
C. Monitors are automatically added for any component wires and exports of the module.

D. Monitors emit common base events for requests and responses that flow through the wires and exports of the
module for every test run.

Correct Answer: C
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